H & 0l & AHS B Ml A

20243 =0llah LS| XIOHAHE L 2024-01-02 15:29:33

SA: XIOHAH 2t
Z2: XIOHHE (XI0H/THE/F Al)

chel: XI0HIHE XI%JI‘&FE’E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
XIOH XH & 10t 2,635,809 2,834,550 A198,741
= 53,39%
Jl 986,054
= 360,315
Al 1,246,045
XIOHTHEH(XIOH/THEH/ B AL 2,401,487 2,603,197 A201,710
= 53,3%
) 874,054
= 350,315
Al 1,123,723
XIOHAHE XEDetxd 1,010,759 1,124,501 A118,742
Jl 567,566
[ 169,810
Al 283,383
XIoHetaMIE 29 40,901 45,674 N4, TT3
201 er2 3| 36,501 41,274 N4, TT3
01 At2t2lt] 10,501 16,274 N4TT3
O +=ZH| 2,073
OXIDHHAIMIE] 2% YDEX
1,173,000& 1,173
OFRelZHl S92l 75,0002 122 900
OILl=4| 3,840
ORI 224 Y=
80,0003 »24 H+23| 3,840
Ogx= 3,588
O=JI1¥EI| &xt 40,0002 =122 2CH 960
O&=Jl Xt 43,0003 x 12 +30H 1,548
oditl &xt 18,0003 122 +50H 1,080
O=¢gl 1,000
OXIHetdE 28 AtE =&
1,000,000& 1,000
2 S52g4l 26,000 26,000 0
03323 % HAl 20,000,000 20,000
OAI2EHI= Xl 6,000,000& 6,000
202 04t 4,400 4,400
01 =LHOHI 4,400 4,400
OXIHHE ALY R 4,000,000 4,000
OSF3 W= 0l 100,0002 x4 400
Xop2el2H(EX) 287,519 379,390 291,871
Jl 230,015
Al 57,504
201 er23 | 171,212 227,834 N56,622
Jl 136,969




2A:

XIOHAH 2ot

S XIOHTHEH(XIOH/MH2/EAl)
el XIOHIHE XIFDetxd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 34,243
01 AtR2t2|HI 130,712 180,834 A50,122
OEEES=G] 102,512
OXINHAMIEl ARES L ADE 7Y
8.,000,000& 8,000
7l 6,400
Al 1,600
OXIOHEDIZE Q= X ZAK M=
10,000,000 10,000
) 8,000
Al 2,000
OXIH=DI1EE EE22 M
24,548,000 24,548
Jl 19,638
Al 4,910
OXlSE2ACIAYE 222 M=
8,000,000& 8,000
Jl 6,400
Al 1,600
OXES A2l B2 MA
5,000,000& 5,000
Jl 4,000
Al 1,000
oXBE AR D PY
8,000,000& 8,000
) 6,400
Al 1,600
OEEA2el T2 28 S
7,000,000 7,000
Jl 5,600
Al 1,400
OXIGAISIEoN 28 S 700,000 700
Jl 560
Al 140
0QTNS SBOE 22 L 29
20,000,000 20,000
Jl 16,000
Al 4,000
OXIOHEtA HSHL At =X
8,000,000& 8,000
) 6,400
Al 1,600
ORUYS AEE 264,000& 264
Jl 21
Al 53




2A:

X ZH -
o=

XIOHAH 2ot
XIOHRHE (XI0H/THE/E A6
XIOHAHE XI<=Detxd

chl: (=CR-E))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OFAMELZ| A2E 7 3,000,000& 3,000
| 2,400
Al 600
ORE =] 200
OXIONTHE A B2 KE W FHI
200,000 200
| 160
Al 40
O=2t| 8,000
OXIDiSE&2 At =&
4,000,000& 4,000
| 3,200
Al 800
OXIOHEDIZ A At =&
4,000,000 4,000
| 3,200
Al 800
ogx=z 20,000
OXtgr Xt 10,000,000 2CH 20,000
| 16,000
Al 4,000
02 2324l 36,500 42,000 A5,500
OXtee ] 3,000,000& 3,000
| 2,400
Al 600
OEA E4 89| 32,000,000& 32,000
| 25,600
Al 6,400
OX=DHESS REUS
1,500,000& 1,500
| 1,200
Al 300
03 HAL2Z | 4,000 5,000 A1,000
OLEES AT L BREA A FX
4,000,000& 4,000
| 3,200
Al 800
202 04d| 14,000 16,000 A2,000
| 11,200
Al 2,800
01 =WO4bI 14,000 16,000 A2,000
OXISE2e] A =2 7,000,000& 7,000
| 5,600
Al 1,400




S2A: XI0HIHE
A XIOHTHEH(XIOH/THEH/E &)
el XIOHIHE XIFDetxd (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OXIH=D1E & AtY =& 7,000,000& 7,000
| 5,600
Al 1,400
301 LB F 20,307 38,556 A18,249
| 16,246
Al 4,061
11 HAIAHIXI A2 3,500 7,000 A3,500
OXESARE L DTSAQ A =T
3,500,000& 3,500
| 2,800
Al 700
14 J|EI2 A3 16,807 31,556 A14,749
OXIHES EEHYA =
16,807,000& 16,807
J| 13,446
Al 3,361
307 QIZ2t01A 82,000 97,000 15,000
| 65,600
Al 16,400
01 22 & 3=H| 82,000 97,000 A 15,000
OXI0Ex 2528 2L
65,000,000& 65,000
| 52,000
Al 13,000
OX|0H2 A+ =D H2&Y| 17,000,000& 17,000
| 13,600
Al 3,400
XK RAIS (B =x) 416,939 475,260 A58,321
| 333,551
Al 83,388
201 LB-2AY| 123,160 144,860 A21,700
| 98,528
Al 24,632
01 AtR2telt] 81,960 87,660 AB, 700
O e==2| 51,960
OXIOHRIAIHA AR EE22 L AMRES 2
& 23,810,000 23,810
| 19,048
Al 4,762
OQIXIZ3 - XICHOIZ WA AIRES & W3
- e 10,800,000& 10,800
| 8,640
Al 2,160




SA: XIOHAH 2t
S XIOHTHEH(XIOH/MH2/EAl)
Sl XIONAHE XIDletxd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEH Z208 Wl & MREE 7
11,500,000 11,500
Jl 9,200
Al 2,300
OXIONOHE Z2 08 WM M
1,050,000& 1,050
Jl 840
Al 210
OXIOHeta0LS - Ity s M&
4,800,000& 4,800
Jl 3,840
Al 960
O=gH| 5,000
OXIBHQIADHA - XIOHKIR At F=&
5,000,000& 5,000
Il 4,000
Al 1,000
Ogx= 25,000
Ooxte & xt 12,500, 0002 =2CH 25,000
Il 20,000
Al 5,000
2 35284l 2,700 4,200 21,500
Oxtgrset] 2,700,000 2,700
Il 2,160
Al 540
03 A= SHI 38,500 53,000 14,500
OXIDHIADHS AL 29
20,000,000 20,000
Il 16,000
Al 4,000
OXIHRtADIS A 2 1,500,000 1,500
Jl 1,200
Al 300
OZE(HE, E24) At 2
5,000,000& 5,000
) 4,000
Al 1,000
OXRZZ20dE =XFA ZAls 29
12,000,000 12,000
Jl 9,600
Al 2,400
202 04t 10,000 13,400 23,400
) 8,000
Al 2,000
01 2L AL 10,000 13,400 23,400




2A:
T ZH -
o e

=aak

XIOHAH 2ot
XIOHRHE (XI0H/THE/E A6
XIOHAHE XI<=Detxd

SA - B GR(31) - HIRAY - BES il &k e HlmS2
OZH(dH, 22) Al FA
3,000,000& 3,000
| 2,400
Al 600
OXIOHHIEY - QIADNA ALY =&
7,000,000& 7,000
| 5,600
Al 1,400
206 M= 4l 60,879 91,600 A30,721
| 48,703
Al 12,176
01 M=l 60,879 91,600 A30,721
OZHWH, 24) T2 Mg 7Y
25,079,000 25,079
| 20,063
Al 5,016
OXI0IIE T2 Mg 7
3,000,000& 3,000
| 2,400
Al 600
O X3t - XM A He
24,000,000 24,000
| 19,200
Al 4,800
OXIoferaldie T2 Mg 7
4,800,000 4,800
| 3,840
Al 960
OXIeIAINE T2 g 7
4,000,000 4,000
| 3,200
Al 800
301 LBENF 222,900 224,900 22,000
| 178,320
Al 44,580
11 HALAHIXIEZ 122,860 124,860 22,000
OEH(HH, 24) 22 12,000,000 12,000
| 9,600
Al 2,400
OX|OHHAERAl SSAHIA
84,500,000& 84,500
| 67,600
Al 16,900
OZZ2 0 XS AR 2tel
1,920,000& 1,920

_6_




2A:

X XH -
o=

XIOHAH 2ot
XIOHRHE (XI0H/THE/E A6
XIOHAHE XI<=Detxd

ol (&2 &3)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 1,536
Al 384
OX0OtE Z28 29 800,000& 800
| 640
Al 160
OoIXZ3 - Xofogns 29
13,200,000& 13,200
| 10,560
Al 2,640
OXI0HerAI0lE Z2 03 Cht 2
1,440,000& 1,440
J| 1,152
Al 288
OXIOHCIAD & AL CHE &
5,000,000& 5,000
| 4,000
Al 1,000
OXI0OtE Sels JtHl 29
4,000,000 4,000
J| 3,200
Al 800
14 JIEt2 43 100,040 100,040 0
OEH(MH, 24) ZAE
66,960,000& 66,960
| 53,568
Al 13,392
O X123t - XIHH WA ZAtE
28,800,000 28,800
J| 23,040
Al 5,760
OXI0IIE T2 ZAY
1,600,000& 1,600
| 1,280
Al 320
OXI0HerAINIE T2 LAY
2,560,000& 2,560
J| 2,048
Al 512
OXIDHeIANSE T2 ALY
120,000& 120
| 9%
Al 24
ORI S22l NA(Bx)(HEAIY) 239,400 219,172 20,228
& 155,610
Al 83,790




2A:

X XH -
o=

XIOHAH 2ot
XIOHRHE (XI0H/THE/E A6
XIOHAHE XI<=Detxd

chl: (=CR-E))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 239,400 219,172 20,228
= 155,610
Al 83,790
05 212t =S 239,400 219,172 20,228
OXIHXI= 22/ 239,400,000 239,400
= 155,610
Al 83,790
SSAL S 33 NFME(EX) 5,000 5,005 N5
Jl 4,000
Al 1,000
201 2egh=3| 1,400 1,405 YaNs)
Jl 1,120
Al 280
01 At2teltl 1,400 1,405 NG
O+ 1,400
OXlIBs=s=A AE =&
1,400,000& 1,400
Il 1,120
Al 280
301 2eEN= 3,600 3,600 0
Jl 2,880
Al 720
14 JIEt2d=3 3,600 3,600 0
OXliss=d0 23|
300,000 * 12 3,600
Il 2,880
Al 720
Sl XIOHOI 22l At (B ) 21,000 0 21,000
== 4,200
Al 16,800
307 212+01& 21,000 0 21,000
< 4,200
Al 16,800
0192 & 3=l 21,000 0 21,000
ORI XI=H 21,000,000 21,000
= 4,200
Al 16,800
KSAt2l S S E A 162,252 157,216 5,036
= 52,3%
Jl 4,000
== 1,279
Al 94,578
HE 222 49,462 45,000 4,462




SA: XIOHAH 2t
3 IIDHXHE( OH/THEH/ D)
C2lr XA S HE ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 19,822 15,860 3,962
01 At2teltl 8,756 7,960 796
O +=SH| 3,7%
OARES 78 1,796,000& 1,79
oxp|9g Tz cl&R MA
1,000, 0002 1,000
O2S|T(AguA) Y
1,000,000 1,000
OEg+< 1,960
OXGA HEE2AM ?I3 HH=E
70,0003 »7 H*42] 1,960
o=l 3,000
OLUZHEZAAMY F&T 3,000,000& 3,000
2 35234l 11,066 7,900 3,166
O=sR= £ MA 3,763,000& 3,763
OAlE2EH|=XH 2,548,000 2,548
OXtE & 4,755,000& 4,755
202 04l 4,000 4,000
01 SLHoIH 4,000 4,000
OLEZMEMNY &2 =d 4,000,000 4,000
206 M=l 4,500 4,500
01 MZH| 4,500 4,500
OA2ES MEHZ DL T2 U2
=] 3,000,000 3,000
OL2ABBLIMLIA TR0 W2 7Y
25,0002 *x30H *23] 1,500
301 EtE NS 10,040 8,140 1,900
11 dAMEEIXIZE S 3,460 2,840 620
OHZE| HEMLZwa 22 8 2b4
4,0002!* 152 %425 2,520
022AV=E NERQ T2 2 2k
4,000& %102 %102 400
0TI HUEE T2 244
3,000 *10& 102 300
OO0 AR T2 244
4,000 20«32 240
14 JIEt2 a3 6,580 5,300 1,280
OB ME MZuwd ZA=E
6,580,000& 6,580
307 212+01& 4,000 4,000
0122 & 3=l 4,000 4,000
O AL 2cMblA At =288 7Y
4,000,000& 4,000
405 AtatE = 7,100 8,500 21,400
01 ML ESFSHI 7,100 8,500 1,400




SA: KIHHE D
ZEM: XIOHTHE (XIOH/THEH /A Al)
el NSASISAHE ALY EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Og=H1Z2e|MHl A 2SEH P2
3,000,000& 3,000
OUdE &YXE MHE&Ed 2
3,100,000& 3,100
OO WEHZDY T2 SH5
gl 2 1,000,000& 1,000
MegA242|(Bx) 8,000 10,000 A2,000
| 4,000
& 800
Al 3,200
201 B2 AL| 2,500 3,120 AB20
| 1,250
= 250
Al 1,000
01 AtR2eltl 2,500 3,120 AB20
O et==2H| 2,000
OXIUABIZATEAIY E22E 7Y
1,000,000& 1,000
| 500
= 100
Al 400
OEEd0lY 238 u=s 237|7 7
1,000,000& 1,000
| 500
= 100
Al 400
o=l 500
OZOHQ! THEMMIH 23 AtY =&
500,000 500
| 250
= 50
Al 200
202 Ot 1,500 2,000 A500
J| 750
& 150
Al 600
01 =WO4bI 1,500 2,000 AB00
Ol MEHH 22 At =&
1,500,000& 1,500
J| 750
= 150
Al 600
206 =4l 1,200 1,600 A400
J| 600
= 120




SA: XIOHAH 2t
E M IlDHXHg( / 5/ )
C2lr XA S HE ALY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 480
01 M=4l 1,200 1,600 A400
022AT=E NE2 W2 72
1,200,000& 1,200
Jl 600
= 120
Al 480
301 EetE NS 2,800 3,280 A480
Il 1,400
= 280
Al 1,120
11 #AIAMHIXIZ S 2,000 2,480 A480
Ol AELIS0I &S 2,000,000 2,000
Jl 1,000
= 200
Al 800
14 DBt 2 a3 800 800 0
O22EE UHX2Y 2AE
800,000& 800
Il 400
S 80
Al 320
ZojelEAze| MLHHREAL(EX) 104,790 102,216 2,574
= 52,3%
= 10,479
Al 41,916
101 @124H| 104,790 102,216 2,574
= 52,39%
S 10,479
Al 41,916
M ORNZZE2NSES 104,790 102,216 2,574
OZ0Hel =M 2 HEHEFG JI2H2=2
A 2= 104,790,000 104,790
= 52,39%
< 10,479
Al 41,916
SuAg g4 & sNsd 1,228,476 1,321,480 A83,004
= 1,000
7l 302,488
= 179,226
Al 745,762
JalAa2el 31,831 31,478 353
201 fet=3| 9,631 9,278 353
01 AtR2t2|HI 9,631 9,278 353

_11_
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SA: KIHHE D
S XIOHTHEH(XIOH/MHE/EAl)
Rl ZAA 24 2 sAsd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 331,619
02 QA AAEE X 473,741 470,980 2,761
OEATHEAE 2| 473,741,000 473,741
s 142,122
Al 331,619
HATHEAIE BMA EE8E(EX) 11,160 11,520 A360
& 3,348
Al 7,812
301 EtE NS 11,160 0 11,160
= 3,348
Al 7,812
01 Al EE A S (2 DEXMR) 11,160 0 11,160
OZUMEANE SAN SESE
11,160,0002 11,160
=S 3,348
Al 7,812
AHat o2 AL 38,248 33,248 5,000
201 2= 36,248 31,248 5,000
01 AtR2t2ltl 36,248 31,248 5,000
O =ZH| 35,000
OsotdEas E5 30,000,000& 30,000
OXAWPAIYE =8 ARES € 223
= 3,000,000 3,000
OXAMTANE EE2S ME
2,000,000& 2,000
O=gH| 1,248
OX&HSAE =& 1,248,000& 1,248
202 04| 2,000 2,000
01 2L A LI 2,000 2,000
OXHE MY 28 gRFA
2,000,000& 2,000
Mo el XS (EH) (EX) 66,520 62,890 3,630
= 19,956
Al 46,564
307 elztol & 66,520 62,890 3,630
= 19,956
Al 46,564
05 212t =S 66,520 62,890 3,630
oaoe &elXis XN&
66,520,000& 66,520
s 19,956
Al 46,564
Aatolet & HAUALSEAIG (EX) 71,800 71,260 540
Jl 35,900




2A:

X XH -
o=

XIDHTHZH(XIOH/THE /A A1)
Rl ZAA 24 2 sAsd EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 35,900
307 gl2tol & 71,800 71,260 540
Il 35,900
Al 35,900
05 git?(& = 71,800 71,260 540
O & JAAZISE At
71,800,000 71,800
Jl 35,900
Al 35,900
LB XIEHl XN(EX) 2,000 5.210 A3,210
= 1,000
Al 1,000
307 @20l & 2,000 5,210 A3,210
= 1,000
Al 1,000
012z € /=4 2,000 5.210 A3,210
HuEEX X=H K& 2,000,000 2,000
= 1,000
Al 1,000
SETAHLYSTAL(EX) 138,000 173,300 /35,300
Jl 69,000
== 13,800
Al 55,200
307 212+01& 138,000 173,300 /35,300
Jl 69,000
=S 13,800
Al 55,200
05 glt?(& = 138,000 173,300 /35,300
OSEUHLY STAY
138,000,000 138,000
7l 69,000
= 13,800
Al 55,200
FAALSXHEH T LAY QIEXIA(EX) 37,036 36,094 942
Jl 18,518
Al 18,518
307 glztol & 37,036 36,094 942
Il 18,518
Al 18,518
05 2IMRIE S 37,036 36,004 942
OZUAHLSAHE NHEUSA o158 XI&H
37,036,000& 37,036
) 18,518
Al 18,518




2A:

X XH -
o=

XIOHAH 2 1k
HY 2 ZHI(XIONTH2)

Sl D12 (XI0HHED) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HY 2L ZHI (X0 D) 234,322 231,353 2,969
Jl 112,000
Al 122,322
J1=23HI(XI0HTH & ) 43,200 48,000 4,800
J12ZHI(XI0HTHE ) 43,200 48,000 4,800
201 et 3| 7,140 6,960 180
01 At22t2l] 7,140 6,960 180
02g8+g 7,140
ogixg 60,0002 x1H*119&! 7,140
202 04l 31,200 36,000 24,800
01 =LHAHI 31,200 36,000 4,800
OSEEZ 0| 100,000 ~262 * 122 31,200
203 =8| 4,860 5,040 A180
04 PAE2EERFAH 4,860 5,040 A180
OXI 0§ TH & 2t 405,000 123 4,860
oI 2G| (XIOH &1 191,122 183,353 7,769
Jl 112,000
Al 79,122
oj2el2g(Ex) 140,000 140,000 0
Jl 112,000
Al 28,000
101 @124H| 137,600 140,000 A2,400
) 110,080
Al 27,520
03 SRH(RIH )22 U2+ 137,600 140,000 A2,400
OS2 2l & =¢ 137,600
oJlZ2s 1,940,448 x4H 12 93,142
7l 74,513
Al 18,629
O=4ll| 140,000 x4 * 122 6,720
Jl 5,376
Al 1,344
O = 100,0002 ~4&~ 122 4,800
Il 3,840
Al 960
oJ|g=g 970,800 x4 H *43] 16,533
Il 12,427
Al 3,106
OgEH0= 1,164,2192 x4 H 23 9,314
) 7,451
Al 1,863
OJtE=¢ 72,5002 x4 122 3,480
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2A:

XIOHAH 2t

S HYS2HZU|(XIOHTHE D)
SI9l: o122 oI (XIHHED (cre:xigl)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 2,784
Al 6%
OIIE 4| 1,794,000 1,7%
| 1,435
Al 359
OAIZt2l=E 43,6863 *4Z 128 2,097
| 1,678
Al 419
OgREXRSY 30,000& x2Z *123] 720
J| 576
Al 144
204 MR AY| 2,400 0 2,400
J| 1,920
Al 480
2 EZH=2&H| 2,400 0 2,400
ouolasy| 50,0003 x4 * 123 2,400
| 1,920
Al 480
X2l 2g 51,122 43,353 7,769
101 @124 d| 15,680 14,135 1,545
03 SR (RIHL) 22X B 15,680 14,135 1,545
OAZt2=S 326,647 x4H+12& 15,680
M HAIRE3S 35,442 29,218 6,224
M SRHE(PIHS) 22X B82882 S 35,442 29,218 6,224
022 18 - MHRER S
100,000& x4 F 122 4,800
O3 20H3) |12 22
150,000 x4+ 12 7,200
O3RE J0AHLEES
100,000& x4 H 123 4,800
O32& E&Z0uXl 4,554,864 3 x4H 18,220
OS2 4| 105,440 *4H 422

_16_




